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D 1-4x=4x
@ 6x—1-4x=4x+1

® 4x—-x=3x



4—x+bx=ax+b
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@ 6-1lx= -5 @ x-4=2x-2
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@ -4Ax+9=9-4x

® 3x-2=5x+38

@ x2+5x+6=x>+1

® 2x? -7 =x(2x-3)

® x(2+x)=2(x+1)
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10. HAA L 57t 2] Hiz} o2 oht=?

@D b5x-—1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —(x-2)=x-2

®1-(x+1)=-2x+2
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@ x+15=5x+5 @ x+15=5x-5
® x+15=5(x-5) @ x+15<bx

® 15x=5x-5
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@ 2x+2=3(x-3) @ 2(x+2)=3x-3
® 2x+3=3x+2 @ 2x+2=3x-3

® 2x=3x+1
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@ x+2x=36

@ x+(x+2)=36

36

@ (x-2)+x

@ x+(x+1)=36

® xx2x =36
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D 64+x=x+6-18 @ 6x+ 18 = 6x
® 6+ x+18 =6x ® 604+x-18=10x+6

® 60+x+18=10x+6
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@ 2(4+x)=x+4+4 @ 2(40 + x) = 10x + 4 + 4

® 8x=x+4+4 @ 2(404 x) +4=10x+ 4
® 4x+4=10x+14
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@ 0.08x 4 0.03(480 — x) = 0.07 x 480

@ 0.08x 4 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) 4+ 0.03x = 0.07 x 480

® 0.084+x+0.03+465-x=7
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